&
X1

DELHI PUBLIC SCHOOL,
Vasant Kunj, New Delhi - 110 070

website : www.dpsvasantkunj.com, email-principal@dpsvasantkunj.com

HOLIDAY HOMEWORK
CLASS -1V
2025-2026

Dear Parents,

Vacation is an excellent time to learn new skills. It is a welcome break for the
children to enjoy and explore things in their own way. Just the right time to let the
children do some creative work.

Here are some interesting and fun-filled assignments for the children to learn and
keep them occupied during the holidays. These assignments have been designed to
ensure that the children enjoy and learn at the same time. To establish productive
engagement during the holidays and continued academic growth, we have also
designed a set of competency-based questions in English, Maths & EVS, as part of
the holiday homework. The responses should be filled in the OMR sheet provided for
each subject.

We encourage the students to complete the homework independently, with minimal
quidance, to build confidence and ownership of their learning.

Let’s work together towards the betterment of the students.

Happy Holidays!!
Warm Regards
DPS Vasant Kunj

ENGLISH

1. Choose the incorrect sentence.
A. Atharv is playing football.
B. Sumit lose his pen yesterday.
C. Ilike playing kabaddi.
D. Math is my favorite subject.




The OPPOSITE of 'more' is

A. most
C. little
B. least
D. less

Which word can join the word 'tooth', to form a new word?

A. cap

B. comb

C. paste

D. water

Jaggu walks like a tortoise.
A. fast

B. slowly

C. quickly

D. lazily

Arun has new shoes. He wore to school today.
A it

C. theirs

B. them

D. its

Find the synonym of the words given in capital letters:
GOSSIP

A. Quiet
B. Chat

C. Listen
D. Think

Direction: Find the synonym of the words given in capital letters:
HOLY

A. Corrupt

B. Sinful
C. Evil
D. Sacred




8. Each page of the dictionary prints the first and last word of that page at the top.
The page having the words 'idiom' and 'ignite' on the top will contain the word
A if
B. idea
C. ignorant
D. improve

9. Which of these is a correct sentence?
A. Every morning when Geetha wakes up, she smiles.
B. Smiles, every morning when Geetha wakes up.
C. Geetha smiles when every morning she wakes up.
D. When every morning Geetha smiles, she wakes up.

10. Which word can join the word 'first' to make a new word?

A. wood
B. card
C. clean
D. aid

11. Here is a list of words:
school, shirt, steel, suit, shoot, shade, ship, said
Which of the words given in the list below begin with the same sound as "shoes'"?
A. suit school said shade
B. shade suit ship shirt
C. shirt shade steel shoot
D. shirt ship shade shoot

12. Where would you see this notice?

RETURN BOOKS HERE

in a hotel
near a lake
in a library

oSN wp

in a shop




13.

14.

15.

16.

17.

Choose the option that fits best in the blank below.
When mummy from the market, she will play with me.

A. will come back
B. will comes back
C. comes back

D. come back

Choose the option that fits best in the blank below.

The car can carry only a people at a time.
A, few

B. little

C. fewer

D. less

Choose the correct answer that completes the sentence below.

I know that are the one who broke the window pane yesterday.
A1

B. she

C. you

D. we

Which word means 'the sound goats make'?

A. Dblate
B. Dbleat
C. Dbalet
D. ablet

Choose the correct answer that completes the sentence below.
Raman lives in a village. He lives there with his wife and children. Everyone in
village is a farmer.

A. a
B. an
C. the

D. same




18. Choose the correct answer to the question below.
What colour is your pencil?

A. It'sred.

B. Isred.

C. Itred.

D. 'It pencil is red.'

19. Which sentence has no mistake?

The postman's dog is barking at the bird.
The postmans' dog is barking at the bird.
The postman's dog's is barking at the bird.

Snwp

The po'stman's dog is barking at the bird.

20. Choose the correct spelling.

A. jungel
B. jungal
C. junggle
D. jungle

21. Which sentence has no mistake?

Yes my aunt lives in west Bengal.
Yes, My aunt lives in west bengal.
Yes, my aunt lives in West Bengal.

Snwp

Yes, my aunt. Lives in West Bengal.

22. Arrange the given words in the CORRECT ALPHABETICAL ORDER.
life, house, tank, people, goat

life, goat, people, tank, house
goat, house, life, people, tank
people, tank, goat, house, life

RIS

tank, people, goat, life, house

23. Choose the correct word to fill the blank in the sentence below.

Mummy bought a new of shoes for me.
A. pear
B. pair
C. pare

D. paer




24,

25.

26.

27.

28.

29.

Choose the correct word to fill the blank in the sentence below.

Caterpillars as many leaves as they can.
A. munches

B. munching

C. munch

D. have munched

Which word can combine with 'down' to form a new word?

A. cut
B. pour
C. word
D. sea

In which sentence does the word 'back' have the same meaning that it has in the
sentence below?

'She scribbled some notes on the back of an envelope.'

A. Brijesh sat back in his chair.

B. My friend gave my book back to me.

C. The dog looked back at us.

D. The back of the scale is too rough.

Which of these titles would come SECOND, if arranged ALPHABETICALLY?
A. The Little Red Hat

B. The House in the Forest

C. The Old Man and the Sea

D. The Dirty Old Shoe

Choose the BEST answer to the given question.
"How old are you?"

A. '"I'm old eight years."

B. "I'have eight years old."

C. '"I'm of eight years old."

D. '"I'm eight years old."

Which sentence has an ERROR?

A. The bus went down the mountain road slowly.
B.  The ship sails under the water smoothly.

C. The train goes swiftly through the tunnels.

D. The aeroplane flies high in the sky.




30.

31.

32.

33.

34.

35.

We need to find out a friend's telephone number in a/an:

A.

B.
C.
D.

album
directory
atlas
dictionary

Choose the BEST way to answer the question given below.

"How will you go home?"

A.

B.
C.
D.

I will go walking,.
I will go by walk.
I will go on a walk.
I will go in a walk.

Choose the CORRECT option for the sentence below.
The teacher wrote the sums on the

A.

B.
C.
D.

broad
bord

board
bored

Which of these is a complete sentence?

o0nw e

Choose the sentence which uses the comma (,), the full stop (.), and capital letters

The blue umbrella.
The child crying.
The coat is red.

We in the classroom.

CORRECTLY.

A.

B.
C.
D.

I brought a doll a bag a dress and a box of sweets.

I brought a doll, a bag a dress and a box of sweets.
I brought a doll a bag a dress and, a box of sweets.
I brought a doll, a bag, a dress and a box of sweets.

In which word is the '00' sound the SAME as it is in 'food'?

SNnwp

good
mood

hood
wood




36.

37.

38.

39.

40.

Look at the alphabetical list below.
flower

leaves

root

stem

Where does the word 'plant' fit, in this alphabetical list? (That is, in the ABC order)
A. after stem

B. Dbefore flower

C. Dbetween root' and 'stem'

D. between 'leaves' and 'root'

Choose the word with the CORRECT word to complete the sentence below.
The child picked up the of chapatti that had fallen on the floor.

A. silces

B. crumps

C. pieces

D. halfs

Choose the word that is spelt WRONGLY.

A. friend
B. height
C. piece
D. neice

Which words BEST complete the sentence below?
The little pup

A. satonmy lap
B. satover my lap
C. satmy lap

D. satover my lap

Which word can come before 'step' to form a new word?

A. arm
B. leg
C. hand

D. foot




41. Choose the sentence that is grammatically CORRECT.
A. Twill ate ice cream yesterday.
B. Iateice cream yesterday.
C. Ieatsice cream today.
D. Iam eating ice cream yesterday.

42. Which word can complete this sentence correctly?

I bought a of playing cards.
A. bundle

B. pack

C. bunch

D. heap

43. In which of these sentences is the COMMA (,) used correctly?
Ram saw some tigers elephants and giraffes at the ZOO.
Ram saw some, tigers, elephants and giraffes, at the ZOO.
Ram, saw some tigers, elephants, and giraffes, at the 200.

oNnw

Ram saw some tigers, elephants and giraffes at the ZOO.

44. Which option sounds DIFFERENT from the other options?
A. hoot

B. root
C. foot
D. Dboot
45. I read book.

Choose the correct word to complete the sentence given below.
A. ainteresting

B. the interesting

C. aninteresting

D. interesting

46. Which sentence below has a GRAMMAR MISTAKE?
A. Mary said she saw a ghost yesterday.
B. Our dog ran away from the house.
C. Thurted my foot with a stick.
D. There was water all over the floor




47.

48.

49.

50.

Choose the correct word to complete the sentence given below

A room is a one in which everything is in the correct place.
A. quiet

B. large

C. bright

D. neat

In which sentence does 'like' mean 'the same as'?

A. The girls like to watch movies.

B. Ido things like: stitching, gardening and painting.
C. The banana plant looks like a tree

D. They like to run round the park twice

If T take the words RED, BLUE and GREEN and arrange them in A-B-C order, I would
get:

BLUE

GREEN

RED

This is because B comes before G, and G comes before R.

If, the words below are written in A-B-C order, which would come SECOND?
squirrel

lion

jackal

giraffe

A. squirrel
B. jackal
C. giraffe
D. lion

All the sentences below use 'the'.

Which of them is correct?

A. TItold Harry to pass me the scale.

B. The pomegranates are good for health.

C. We must not drink the water during meals.
D. Iam going home for the lunch.




OMR Answer Sheet (ENGLISH)

Name of Student:

Section: Subject:

Class:
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MATHS

1. Given below is the folded form of paper. Which of the following is the correct figure
when the paper is unfolded along the dotted line?




3. Find the mirror image of figure (X), if the mirror is placed along the dotted line MN.

4. In a play competition, there are 5 finalists.

Priya: She has only one girl behind her.
Beena: She is not the first.

Garima: She is just after Latika.

Megha : She is just before Priya.

and stood at first and last positions respectively.
A. Garima, Latika
B. Latika, Beena
C. Garima, Megha
D. Megha, Beena

5. Some letters are given which are numbered 1, 2, 3, 4, 5 and 6 followed by four options
containing combinations of these numbers. Find the combination of numbers so that
letters arranged accordingly form a meaningful word.

N ;g
= o

~
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A.
B.
C.4,23,1,
D.

&
N
»
&
=

6. The difference between (eighty six thousand forty) and (seven thousand nine hundred
sixty four) is-

A. 80686
B. 78076
C. 67607
D. 70976




7. The number shown in the abacus is read as

A. Five hundred forty two thousand seven hundred and ninety six.

B. Five ten thousand forty two hundred thousand seven hundred ninety six.
C. Five lakhs forty two thousand seven hundred ninety six.

D. Fifty four thousand two thousand seven hundred ninety six.

8. Which of the following statements is INCORRECT?
A. V, L, D can never be subtracted while writing roman numerals.

B. Symbol I can be subtracted from V and X only once.
C. X cannot be subtracted from L.
D. None of these

9. The weight of each of the 6 identical balls is

A. 250 grams
B. 350 grams
C. 450 grams
D. 500 grams

10. The book store-keeper orders 25 books of Mathematics for Rs.90 each and 32 books of
Hindi for Rs.80 each. How much does he have to pay in all?
A. Rs. 4830

B. Rs. 8480
C. Rs. 4810
D. Rs. 5210




11. 64 thousands 80 hundreds 75 tens - 17 thousands 92 hundreds 68 tens 19 ones =
A. 45831
B. 45841
C. 45851
D. 45861

12. Read the given clues and find out the answer.
As I was passing by,

I saw four men walking together having 2 kids.
Each kid had two bags.

In each bag, there were four dogs.

Every dog had four puppies.

How many eyes were there altogether?

A.174

B. 108

D. 184

C.178

13 Study the given arrangement carefully.

14 Which is true?

A. 9+18 =18+9
B. 9+18 =18-9
C. 18+9 =18X9
D. 9+18=18+9




15. The given table shows the number of chairs sold by 2 factories over a period of 4

months.
Months Factory P Factory Q
September 2545 1389
October 1864 1354
November 900 1268
December 1217 2513

How many more chairs did Factory Q sell than Factory P in December

A. 1864
B. 1183
C. 1296
D. 1543

16. Which word CANNOT be made from the letters of the given word?
EXPERIMENTAL

A.PARENT

B. RELAX

C. METER

D. METHANE

17. Three of the following four are alike in a certain way and so form a group. Choose the
odd one out.

A. ACE

B. DFH

C.IKM

D. NPS

18. Complete the number pattern given below.

- ST
. o B NIRRT\
ST A SRR,

A. 9000
B. 9100
C. 10000
D. 11100




19. How many triangles are there in the given figure?

A 11
B. 12
C. 10
D. 14

20. If Nisha is 2nd from the left end and Preeti is 3rd from the right end, and 4 girls are
standing between them, then the number of girls in the row is .

21. Amit went for swimming at 2:30 pm and returned back home 3% hours later
hours later. The time he came back home is

22. Gautam wakes up at 6:15 a.m., takes 20 minutes to get dressed, 10 minutes to eat
breakfast and 10 minutes to reach school. At what time does he reach the school?

A. 6:30 am.

B. 6:32 a.m.

C. 6:55 a.m.

D. 6:35 a.m.




23. Mohit was facing the Hospital. He made a % turn clockwise. Where would he be
Facing?

School
Park Office

Mall Hospital

Fire Home

station Library

A. Park

B. School

C. Office

D. Fire station

24. Which of the following options will continue the given number pattern?

o0

A. 576
B. 486
C. 840
D. 729

25. Which of the following has no line of symmetry?

A B B. T g D.




26. XL - III comes after?

27.

28.

29.

30.

31.

32.

A)37 B)38 ()36  D)40

Find the number with the clues given below
% [ am not an even number.

* [ am between XL and XLIV

% [ am not XLIII

A) 42 B) 4 C 40 D) 43

Place value of digit '1' in sum of 6421, 3245 and 9260

A) One Thousand  B) Ten Thousand C)Tens D) Ones

Five even numbers between 163 and 173 are

A) 165,167,169, 171, 173
B) 162, 164, 166, 168, 172
C) 164, 166, 170, 172, 174
D) 164, 166, 168,170, 172
What should be added to 400 to get 40007

A) 2000 B) 3600 C) 4400 D) 4600

280+ ___ Tens =1000

A) 720 B) 72 C) 7200 D) 1000

Julia reads a book in 20 days. She reads 16 pages every day for first 15 days and 18
pages everyday for the last 5 days. Which expression can be used to find how many

pages Julia read?

A)  16+18 B)  15x16+5x18 C)  20x16




33.  WhatisS?
if 16 x 15 =3xS

A) 24 B) 80 C) 10 D)8

34.  Rina works out the product of 2 numbers shown below. One of the digits is covered
by a piece of paper.

275
X 9

2405

What is the digit covered by the paper?

A)3 B) 4 Q)6 D)7

35.  Mira has 4873 stamps in her collection Rina has double stamps as many as Mira in
her collection. How many stamps do they have in all?

A)4873  B)14619 C)9746 D)2

36.  The sum of predecessor of 4326 and successor of 4938 is

A) 9642 B) 4926 C) 9264 D) 9624

37.  Which number when subtracted from 21,734 is one more than twenty thousand?

A) 20001 B) 20000 C) 11733 D) 1733
38.  XXXIV, XLVI, XXVI, XLIV in ascending order

XXXIV, XLIV, XLVI, XXVI
XXVI, XXXIV, XLIV, XLVI
XXVI, XXX1V, XLVI, XLIV
XLVI, XLIV, XXXIV, XXVI

o0 w >




39.& x4=32
What number does € stand for

A)4 B) 8 C) 28 D) 128
40. What number is next in the series
1,2,4,7,11,
A) 15 B) 16 C) 20 D) 21

41. Which is true for 99,999 ?
A) It is the successor of 1 Lakh
B) It is the smallest 5 digit number
C) It is 1 less than smallest 6 digit number
D) It is same as ninety thousand ninety nine

42.  XLVII is same as
A)L-11 B) XL + VI C) XX + XXVII D) XXX + XV
43. 72+9isequal to

A) 6 B) 8 C)9 D) 83

44.  Out of the 5 children in a family, 2 are girls. What fraction of the children in the
family are girls?

A)5/2  B)2/7 C)2/3 D)2/5

45.  Neelu wants to given one third of the sweets given below to her sister

FIP
FIP

How many should she give?

A) Two B)  Three C)  Four D) Five




46. How many 50p coins make two rupees?
A)2 B) 4 C)8 D) 25

v mm () mmm A A

In the above pattern, which shape is between 2 squares?

AC BB OO D) A

48.  Ranjina is playing a game. She has to fill the boxes with pictures of cow, sheep and
chicken. Each column should have different animal. Which animal will go in the

shaded box?
- chicken

sheep cow

A) Cow  B) Sheep C) Chicken D) Either a Cow or Sheep

49. How many children can share the sweets in the boxes given below if each child
takes 5 ?

10 sweets 10 sweets

A)2 B4 C5 D10

50. What Fraction of the figure is shaded ?

A) 1/2 B) 1/3 Q) 2/2 D) 1/4




OMR Answer Sheet (MATHS)

Name of Student:

Section: Subject:

Class:

el ool ol o6
oo ool oloololole oo oo |o
oo @@ ® ® © ® @ ® ® © © ® ® ©® |©
Qe e e @R IR IR
+ (v |8 |~ | | |8 |4 |ei |m |+ (v (v (= |J@o | |2
M | | = | F = | (= | = = = |
ool ool ool
oo ool oo ool oo ol o
oo ®|® ® © © © @ ® ® © © ©@ ©® © |©
QR e e @R @RI
oo loloelelelolele@©@ @@ ©@©@]©
@ 0o 0 80 @ @ |2 @@ @]
@ e @ o o @ @ @ ®©° @ @@ @ ©
e el leleelRPP®PPE®R®P
Ao le e |F (W | K e & |2 |5 |5 |8 (3 |3 |3




EVS

1. Why are bees important for plants?
A.  They eat leaves

B They make honey
C.  They help in pollination
D They destroy flowers
2. The snake sheds its skin because:

A.  Itis dirty

B It changes color
C. Itgrowsinsize
D It gets cold
3. In picture A, Max boils water in a pan in his kitchen. The picture B shows one of the
window in his kitchen.

Choose the correct answer to complete the following sentence.
When the water boils, some of it turns into . When it reaches the cold
window, it turns into

A. solid, liquid

B. solid, gas

C. solid, steam

D. steam, water droplets




4. Which part of the given plant produce seeds?

oON=p
R Feole

5. A balanced diet includes:

Only rice and dal

Junk food

Fruits, vegetables, grains, proteins
Sweets and chocolates

Sn=p

6. Refer to the given picture . Which of the following could be X?
A. Short conical beak
B. Long flat strainer beak
C. Hooked beak
D. Slender beak

Picture of a Duck

7. Which of the following is biodegradable waste?

A. Plastic

B. Glass

C. Vegetable peels
D. Aluminum

8. Look at the picture of a tool. Which of the following would be the correct use for this
tool?

A. Tightening a screw
B.  Digging up the soil
C.  Smoothening a surface

D. Cutting a wire

9. Ravi notices that after heavy rainfall, many earthworms come out on the ground.
What could be the reason?

They like sunlight

They are searching for food

The soil becomes too wet and they can’t breathe underground

Rainwater is their home

oSn=p




10.

11.

12.

13.

14.

15.

16.

The figure below show roots of some plants. Which of the following will hold the
plant most family to the soil.

N i T “z%§~ @f%%g

Which of the following situations can help prevent soil erosion?
Cutting trees from hills

Planting grass and trees

Leaving the land bare

Removing all plants before monsoon

oN®p

In winter, why do animals like snakes and lizards hide in warm places and become
inactive?
A. They sleep early

B. Their body needs more food
C. They are cold-blooded and cannot stay active in cold weather
D. They dislike sunlight

A class is studying about water sources. Which activity would BEST show that
groundwater is used at home?

A. Measuring rainwater

B. Looking at the tank on the roof

C. Checking the water from the handpump or borewell
D. Filling water from the river

Which of these is an example of an adaptation for survival in the snowy mountains?
A. Camel’s hump
B. White fur of snow leopard

C. Webbed feet of duck
D. Long tongue of frog

Why do polar bears have a thick layer of fat under their skin?
To swim better

To digest food

To stay warm in extremely cold weather

To run faster

OSN&p»

If all trees are cut down in a forest, which of these is most likely to happen first?
Animals will find new homes easily

Soil will stay firm and strong

Soil erosion and loss of shelter for animals

More rainfall will occur

OSNZp»




17. A bird lays its eggs in a high nest on a tree. What could be the reason?
A.  The tree gives fruits
B.  Birds like tall places
C.  To protect the eggs from animals on the ground
D.  Birds do not like to be seen

18.  Why do migratory birds travel thousands of kilometers every year?
A.  To play in different places
B.  To escape from predators
C.  To find better weather and food
D.  To teach other birds

19.  An animal is seen hunting at night and has eyes that glow in the dark. What can we
understand about it?
A.  ltis afraid of the sun

B.  Itlives under the sea
C. It has night vision and is possibly nocturnal
D. Itdoesn’t need to eat

20.  You notice ants walking in a line toward a piece of food. How do they do this?
A. They can see far
B. They follow the smell using their antennae
C. They talk loudly

D. They copy other animals

21.  Which of the following food set is rich in protein?

22.  If people in a city throw garbage in open drains, what chain reaction is most likely?

A.  (Cleaner roads — more visitors

B. Blocked drains — waterlogging — breeding of mosquitoes — spread of
diseases

C.  Overflowing garbage — stronger walls

D. Dirty water — trees grow faster

23.  What is the main advantage of composting kitchen waste?
It removes bad smell from garbage

It makes waste disappear completely

It turns waste into useful fertilizer for plants

It helps plastic decompose quickly

9wy




24.

25.

26.

27.

You see dew drops on grass early in the morning. What causes this?
Grass sweats at night

Water is poured by people

Water vapour in air condenses on cool surfaces

Rain falls only at night

OSNZp»

Which of the sets of heading would be best suited for the below table
A.  Group1:canfly
Group 2 : cannot fly

. Group 1 Group 2
B. gigﬁp ; Eas six legs Mosquitoes Rats
p2:has two legs Flies Fish
C.  Group 1: does not have bones Earthworms Snakes
Group 2 : has bones Spiders Sparrows
Ants Crocodiles

D.  Group 1:lives inside the house
Group 2 : lives in the jungle

The picture shows a board with sticky glue on one side. When insects like ants or
cockroaches walk over the board, they get stuck to it and are trapped.

- Insects stuck to the board
2
Sticky board

Which of the following animals also catches insects for its food by trapping them?

A.  squirrels
B. spiders
C.  Dbees

D. ants

A vulture is a bird that eats the flesh of dead animals.
What happens when the vultures do this?

The area where they live is kept clean.

The number of wild animals is controlled.
Energy is saved as they do not hunt for food.
Plants can grow as they do not eat up seeds.

oNw




28.

29.

30.

31.

32.

33.

Four friends Ashok, Derek, Sindhu and Sneha picked up the leaves (shown in
the picture) while walking in a park.

L Lhal

2 3 4 5

This is what each one said. Who is correct?

Ashok: Only leaves 1 and 4 are from the same tree.
Derek: Only leaves 2, 3 and 6 are from the same tree.
Sindhu: Only leaves 4 and 5 are from the same tree.
Sneha: All the leaves are from different trees.

oNw

Bela and her friends are talking about shadows. Which of them is correct?
Gina: "My shadow moves only when I move."

Bela: "My shadow can never be longer than me."

Fiza: "My shadow can be seen -only in the sunlight."

Nupur: "My shadow is seen only if there is some light."

oNw

Which of the following is a source of light?

A. The Earth

B. The Planet
C. A Star

D. The Moon

Which of these has been put under the wrong heading above?

A. water

B. candle SOLID LIQUID GAS
C.  steam Candle | Orange juice|  Steam
D.  ice-cube Eraser Water Ice-cube

Which of these lists has only living things in it?
rivers, lakes and streams

plants, insects and birds

rivers, sky and soil

animals, earthworms and soil

9wy

Some animals give birth to young ones. Some others lay eggs and hatch their young
ones. Among these animals, which one gives birth to live young.

5
4
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Snake
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35.

36.

37.

Crab

Earthworm

C. D.

One evening in Kajol's house there was no electricity supply for 2 hours. Which of
these things would have still worked?

A. doorbell

B. gas stove

C. air conditioner
D. television

Which of the following lists has only plant eating animals?
A. Cow, elephant, lion, rabbit

B. Deer, cheetah, lion, butterfly

C. Elephant, cow, rabbit, goat

D. Rabbit, vulture, tiger, deer

Some solids directly change state and become gases without first becoming liquids.
This is called sublimation. Which of these is an example of sublimation?

A. A bDottle of perfume is opened in the corner of a room.

B. If an ice-cube is left in the hot sun, nothing remains after an hour.
C. When water is boiled, it changes to steam.

D. When water is boiled, it changes to steam.

Sushmita has learnt in class that plants lose water through their leaves. This is
called transpiration. What experiment can she set up to test if this is true?

A.  Tie a wet plastic bag around the whole plant.

B.  Tieadry plastic bag around some of the leaves.
C.  Tie a wet plastic bag around some of the leaves.
D.

Tie a dry plastic bag around the whole plant.
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39.

40.

41.

42.

The graph shows how many days had what type of weather last month. Look at the
symbols in the picture to answer the question. For almost half the days of the month,

the weather was . —y——
A.  Sunny z: }{} am | @
B. Partly cloudy 2.l %Mfm Gl
C.  Rainy sl |5 | e
D. Cloudy §10..J
54
[ I .
{} Gm ™ @

Shoes do not grow because

A.  they cannot move

B.  they do not have teeth
C.  they do not breathe

D.

they are non-living

In a story, three pigs build houses to live in so that the wolf would not eat them. Here
is the list of materials the pigs used for building the house.

The wolf comes along and blows hard on each house. Which house will be the
hardest for the wolf to blow down?

A.  The straw house Pig 1 Straw
B. The wood house Pig 2 WOOd

C.  The brick house < <

D.  All the houses will be difficult Plg 3 Bricks

for the wolf to blow down.

What can you measure with the scales below? —

, ™ s
A.  Height I — —1
B. Welght l.,«.llil.-...r
C. Length B %
D. Time = e =
-"‘,; '?r : \-:-\

Which of these results due to the smoke from factories, cars and burning of
garbage?

air pollution

water pollution

sound pollution

soil pollution

o0 w >
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44.

45.
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Ram bought a few cone ice creams for his family. On reaching home, he put them
in the freezer compartment of his refrigerator. Why did Ram leave the ice creams in
the freezer?

The freezer can turn water into ice.

The freezer is used for making ice creams.

The freezer prevents ice cream from melting.

The label on the cone ice cream asked him to do so.

o0 w >

Shama spilt some oil paint on her white dress. Use the information given below to
find out how the paint can be removed from the dress. Which of these can be used
to clean Shama's dress?

A cold water Paintbrush Paintbrush Paintbrush
: used for washed with cleaned ?
B. cold water, or hot water Water paint Cold water Yes
C. hot water Qil paint Cold water No
D. kerosene —
Qil paint Kerosene Yes
Qil paint Hot water No

Which of these shapes does the moon never take?

A /N
[ |
'.‘ i
\.\ /
s
‘T\._\_\__\\\. _\\ .
B . “\\ \'\\
|I 'I
| ]
_,.-"I ;_x"
- ///
g /.-- :
7
c.
| |
| |
\ /
\ /
g R o -
D. (
I'.
.

Which of these activities, if done regularly, can help reduce air pollution?
Spend very little time outside home

Use only TV or radio for entertainment purposes.

Walk or use bicycles to go to nearby places.

Burn all the garden waste in an open space at least once a week.
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48.

49.

50.

Sejal was given instructions by her mother on chits to make bhindi sabji.

Unfortunately Sejal mixed up the chits. Can you help Sejal to put them in the right

order?

1. Remove the bhindi from the pan
2. Wash the bhindi.

3. Fry the bhindi in o0il in a pan.

4. Cut the bhindi.

A, 1-2-4-3

B 2-1-4-3

C. 2431

D. 1423

What is the dog doing?
A.  Pulling

B.  Bending

C.  Sliding

D.  Pushing

Plants make and store food in the form of sugar and starch. When iodine is added

to foods containing starch, a VIOLET colour appears.
The following foods were tested for starch and the results are shown below:

Which of these foods contain starch?

9wy

Rice and apple

Rice and cucumber
Rice only

Rice, apple and onion

Experiment

Does Violet

Appear?
Rice + lodine Yes
Cucumber + lodine No
Apple + lodine Yes
Onion + lodine No

This is called a FOOD CHAIN because a deer eats grass, and a tiger eats a deer.

GRASS |—* DEER [—

TIGER

Which of the following is a food chain?
A. FROG =* SNAKE —* MAN

B. GRASS = GOAT =-—» LION
C. CAT = RAT =—* MOUSE
D. PLANT=* GOAT —* ELEPHANT
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FRENCH

Le devoir de Francais

Make a Picture Collage showcasing French Culture and Traditions e.g. Monuments, Food
items, Currency, Perfume, Fashion, etc.

Drawing or Pasting is allowed!

Size of collage -

A3 sized sheet or half chart paper.

Be creative and make a beautiful collage on your own!

GERMAN

Make a video giving your introduction in German or make a colourful poster on the same
theme. Videos to be mailed to your German teacher by the end of the summer holidays to
papia.dutta@dpsvasantkunj.com. Posters to be submitted after school reopens.

SANSKRIT

2. HEhcl oh IS &l Leiteh foreent 3eTehr 319 T & faf@e| (3T gieder #)
R. UG T §9 oIC T H folEgent I1e HITST | (3R qiecrenr #)

JAPANESE
Note: Please do the Homework in Japanese Notebook.

1. Eiga(Movie)

Watch the movie “Spirited Away”/ “My Neighbour Totoro” and draw your favorite
character from the movie. What did you like the most in the movie?

2. Origami Fun - Bird

Try to make origami and paste in your notebook.(You may refer to one given below)




Bird - Tori

Design your own Kimono

Kimono designs reflect Japan’s rich cultural heritage, featuring intricate patterns
inspired by nature, seasons, and symbolism. Traditional motifs like cherry blossoms,
cranes, and waves convey beauty and meaning, while colors and styles often indicate
social status, occasion, or personal expression.




SPANISH

1. Colour the fruits below




Sheet Name

Greetings and Dialogues 1

Name:

Write the correct greeting in Spanish that matches the greeting in English.

buenas tardes seﬁorita hasta luego
buen 5 senora gracias
hola buenas dlas adios
encantado(a) por favor

1. Mr./Sir

2. Good evening/Good night

3. Hello

4, Miss

5. Goodbye

6. Pleased to meet you

7.Good morning

8. Mrs.

9. Good afternoon

10. See you later

11. Please

12.Thank you




Greetings in Spanish

Let's learn how to greet people in Spanish!

hola buenas noches adios

OH-lah BWEH-nas NO-chehs ah-dee-OHS

hello good night good bye

buenos dfas icomo estas? hasta mafiana
BWEH-nos DEE-ahs COH-mo ehs-TAHS AH-sta ma-NYA-na
good morning how are you? see you tomorrow
buenas tardes icomo te [lamas? hasta pronto
BWEH-nas TAR-des COH-mo tay YAH-mas AH-sta PRON-to
good afternoon what is your name? see you soon

Write the words in Spanish.

o
hello good afternoon
good morning good night
see you tomorrow
how are you?

what is your name?

see you soon

good bye




